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1
IMPORTANT NOTES

Tfftgnjpf

Please fill up the OMR Sheet of this Question- Answer Booklet properly before answering. . I
1(B) uiranm tp fMl ^ tt^ ^ ^ ̂ ^

Except Hindi Grammar and Hindi Essay question paper, all other question papers can be written either in Hindi or English

(C)

I  tPW fcR^ I • u- .u 1
The candidates should not write the answer beyond the prescribed limit of word. Candidtes should write the answers with.n the
given lines. Please do not write in the blank space.

urn m an^ aifbtd n ta^ I tsrR #tnin ut ̂  an, uil^ wnft
I  ante ^ ^ ̂ ^ ̂ I 1

candidates violating these instructions would be cancelled without even giving them any other notices.

Cift q^at^P IRT yfNn ̂  1 .•■ u 1. J 1- -11 I
Candidates are directed that they should not write (answer) out side the horded line in evety page." Answer written out stde the border hue t ,
not be checked by the Examiner. '

If there is any sort of ambiguity/mistake either of printing or of factual nature then out of Hindi and English version of thequestion, the Hindi version will be treated as Standard.
I (G) 3r«iaft q>t tRqIvR "dlcitjq fetw^ ^ ^ ̂  ̂ ■ v " ■. I

The Question -Answer Booklet is provided in a sealed envelope to the candidate. v ;v

I  qw ^ qjt-qrt atatcTT ^ ^ eifay'oi ^ ̂  1 ,i •
Candidate should fill up all desired details on this attaehed.QMR sheet of Question-Answer Booklet with blue/black ball point

1  pen. Please ensure that this OMR Sheet is not torn.or damaged. - I
(I) ^ 3ft.qq.3rR. q^ ̂  ̂  ^ t, ^

This OMR Sheet consists of two parts in which some infoimation is pre-printed; remaining details have to be filled by the
I  candidates.

•  If the Question-Answer Booklet is torn or not printed properly, immediately bring it to notice of invigilator and get changed the
I  Question- Answer booklet, otherwise the candidate will be liable for that.

Special Note: If there is any wrong information filled by the candidate then his candidature for the entire examination shall be rejected
Iby the commission, for which he Himself will be liable.

SPECIAL INSTRUCTION

(A) uvn-n. ̂  -a,'uen H t, utiut ti. ̂  tlFt istn, tm M ^ ^ ̂ ̂  ̂  ^ ̂
I  11 qr^Tcp ^ ■^at >3^ 'iyrhp "qq 11

The Question paper is divided into two parts as 'A' and 'B'. There are three questions as very short answer type, short answer ^pe
and long answer type questions in each part, in which there are sub questions in each question. The maximum marks are pnand long answer type questions
front of each question.
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ra i. |i lytcT^y^os (^
This question contains 15 very short answer type sub-questions. Answer each question in ideal 10 words/one
line. All questions are compulsory. Each question carries 03 (Three) Marks.

15x3=45

^/M = 03

^/M = 03

CRW

^/M = 03

U|tfll<P

^/M = 03

^/M = 03

orew
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Que.l

SECTION-'B'

|f iy^Wy^03 (cD-i) -31^ I
This question contains 15 very short answer type sub-questions. Answer each question in ideal 10 words/one
line. All questions are compulsory. Each question carries 03 (Three) Marks.

15x3=45

TJ,/M = 03

□
tPH:(1.6)

v3^:

im:(1.7)

3tR :

tPR:(1.8) -

v3tT7 :

y3B:(i.9)

3tR :

n5R:(l.lO)

vJtR :

/  \

/ /

\

\

/•v.

X

■•y

^/M = 03

□
UIKIIQ'

^/M = 03

□

^/M = 03

□
Uli^icp

tJ^/M = 03

yrai^
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Que.l

SECTION -'B'

15 '3{trr^T^xltUT^-tPBt,y^l^y^^'3xRS^3fI^^Zl^WTT 10 nfw O^mHi
t ly^^PHOB (#1) 3f^^tl
This question contains 15 very short answer type sub-questions. Answer each question in ideal 10 words/one
line. All questions are compulsory. Each question carries 03 (Three) Marks.

y5R:(i.ii)

:

^hH:(I.12)

\3xR:

y^;(1.13)

\3tR :

TO: (1.14)

\3tR :

TO: (1.15)

vJfR:

//
/■ ../

X. x_/

/

/X

■X- ..
\  V
_.,X /...

X

/■^ j/ \  \

\  1

"  / /

15x3=45

^/M = 03

□
Ul^Oiqi

T5,/M = 03

□
ttRW

TJ./M = 03

□
Ulk1l<l>

= 03

□
uwiw

^/M = 03

□
Ul^l*
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Que.2

^R^tt>l/Page No. -06

SECTION -'B'

vj-dc»j| %^a[r3ltoT4a;^l^l^tPH5 (qfcO ^tl
This question contains 10 short answer type sub-questions. Answer each question in ideal 50 words/5 to 6 lines.
All questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly
indicate the option choosen. Each question carries 5 (Five) marks.

10x5=50

= 05

□(2.1)

Ivi'd't :

OT: (2.2)

tJ./M = 05

□
UMl®

:
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Que.2

TPFftrR Page No. -07

SECTION -'B'

10 dfresif
tr^-sfPrar^ f i tph -sfTcffW fi qt? ?

CT1%) 3f^ ̂ tl

This question contains 10 short answer type sub-questions. Answer each question in ideal 50 words/5 to 6 lines.
All questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly
indicate the option choosen. Each question carries 5 (Five) marks.

10x5=50

1?,/M = 05

URT: (2.3)

X

IvJtR :

■•x-

"x \

toT: (2.4)

i?./M = 05

□
ui^dl*

l\TrR:
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inR: 2.

Que.2

SECTION -'B'

10 ̂  vTcl^^-y^'tl WcMcp % ̂3tR ̂  ^trn 50 5 ̂  6

orf^ ̂  ̂ti
This question contains 10 short answer type sub-questions. Answer each question in ideal 50 words/5 to 6 lines.
All questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly
indicate the option choosen. Each question carries 5 (Five) marks.

10x5=50

T^/M = 05

□(2.5)

\3tR :

N.

X.
\

(2.6)

vixK :

tJ^/M = 05

□
\ 'x /
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SECTION -'B'

f 1 TO' ̂ 'SftdfW WcTI tl -Jllciricf? l^cnc^^vcSxl-i^Tt"!
TO: 2.

Que.2

^3^ ̂^^-SlPlcil^cl:^! WcMcp 5 (MN) '^'ll
This question contains 10 short answer type sub-questions. Answer each question in ideal 50 words/5 to 6 lines.
All questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly
indicate the option choosen. Each question carries 5 (Five) marks.

10x5=50

TO: (2.7)

y

3xR:

Cx /

/  .

t' ^
/  / !

/
N, x, /̂ /

/

/

/
/

X,
X.

X^

■  "'V^v ^'^"x
■•. \

/

/'
<

' ' \ ^v N

\

\

\

TO: (2.8)

\JiR:

\  \
\  /

/  /

/■
/  / \

\ •) !

^/M = 05

□

^/M = OS

□
UWI<P
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Que.2
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SECTION -'B'

^Plcjlif f 1 y^ ̂  3{t?|fW l^ctstrM ift WcIT 11 -JllclRaj yy xiTl'i ̂ tIf
■^ecRy'^3tR -siPiqiild: y^i wc^cp w^iH 5 (yfy) 'Sf^ yy'l'i

This question contains 10 short answer type sub-questions. Answer each question in ideal 50 words/5 to 6 lines.
All questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly
indicate the option choosen. Each question carries 5 (Five) marks.

10x5=50

y^H: (2.9)

:

y^H: (2.10)

^3tR :

■  \

s .

"\ \
X- \

\  :

/X As.

\

/ /' J i
!

'  !
!

/
/  • s N,

"  -•  ' -v V.

/
/

/

'n.
-w

V

/

^/M = 05

□

^/M = 05

□
UlWiqi
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THR: 3.

Que: 3.

SECTION-'B'

OS^^xT^'^-TOTtl 200^^1 I im
f ITO ̂  3ftdW Wm tl -MKT^to'Sfiif^Rcbc^^OT^^Ttf
OT? %^af^Pltjl4d:"^l (7^m) ^tl
This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

5x11=55

^/M = 11

□
(3.1)

/ /
/

/ ^

\  -

■> '

\

/  /
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SECTION -'B'

f IWT ̂  ancriW wm ti
^str ̂ war-sftoRfa;"^! y^y^ n yyfi
This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

(3.1) Continued /^_j>

tPR: 3.

Que: 3.

5x11=55

/ / j

^  X.\  ̂

"s \

X.

\  /
\

/
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SECTION -'B'

TnR:3.

Que: 3,

fl lPFT ̂  ̂fTcTto WcTT fl
\Jt1< ̂  WT5f "SiRciiild: I TJER 11 (^^TR?) ^ 1
This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

5x11=55

TPR: (3.2)

/

N. X

'v ./
N. ,/

\
N

N,

•  ̂

v' /

"Xw

^/M = 11

□
UIKlltp

••y

X,
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SECTION-'B'

fiTO ̂  dfTclto toFTiftwf tl
OTf 11 (Wf) ̂  ̂tl
This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

(3.2) Continued (^ifl)

TPB: 3.

Que: 3.

5x11=55

' X ' ' '

/ t

./ ' "
"s.

/-

/  ■•;

'  "V / /'

' 1 ^
/  • '

/
/

" •>

/  '

.  .''' /'
" V '

/

/
i

N.
X

\

\ Z'.
n"" -

*.

" n ■■■

•X . ^

''-h _

/—

's.
'•~J

V.

\  ,/ z^- /

/■

/  / \

'  / '/  ■

__ N ^

\  '

\
\

\
I

/  /
/  J

1
s

GS-I-B Sample Question Answer Booklet



Page No. -15

yiB: 3.

Que: 3.

SECTION -'B'

05^^3TT#T^-TR^tl '^Hhi 200 t I
tl ^ -sOcfiW l^chcM ^ctiai ^1 'JuaP^icp laq^^rM M vdTi'i f \d^cpi

This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

5x11=55

T</M = 11

^PFT: (3.3)

/  /

/"•

\  \ ^ f-

\  \ / /
\  V / / .

1  ,■
/

□
Ulfllif
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THR: 3.

Que: 3.

1/ Page No. -16

SECTION -'B'

^I 'dcfdl ^I fyRT djTdf^^ ^ v3tR q ̂ ^ "d'd^l
T3xR ̂ ^atdttor^:'^! (W?) ̂  ̂tl
This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

TO; (3.3) Continued (W^ -

5x11=55

/  \

\
N./ /

---.x

\  \:

N  /

I
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3.

Que: 3.

Page No. -17

SECTION -'B'

■^TPR^f 05 WcMcp ^ vdxK 200^1®^ ̂  I
f  Tl: >3fTcto wcTT ti

This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

5x11=55

\m: (3.4)
^/M = 11

□

X

X  /
X X

•  '' /\  " > /

\
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SECTION -'B'

05*fx?Tf#7^-n^|iy^ira^ ̂str 200
fl W ̂ -Sficto Wm tl

%^5f'3iRcl|4d:'^l TT^y^ll (T^TR^ ^fl
This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

(3.4) Continued ^

tTR: 3.

Que: 3,
5x11=55

/
s

s.

/  /

sS.

/ \
\

'  /

( ( / N V

^  I
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TPR: 3.

Quc: 3.

SECTION -'B'

05^^Tf^^-y^FTti
flira ̂  ̂ficTto wm tl
^xR -SiPiqiqd: ̂ 1 Wo^cp TT^ 11 -Sf^ ̂ 'tl
This question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All
questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

5x11=55

q;/M = 11

^:(3.5)

^tR:

/ /
<  / /

s

X''

\  \
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SECTION-'B'

^nR:3. '^IdRcf -ticpdl f I 3{Kf2jff^ >Ji[dr<ct3 f^cpeM Wtc vje^<g
^  (TCHR^ ̂  ̂tl

Que: 3, question contains 05 long answer type sub-questions. Answer each question in ideal 200 words. All

questions are compulsory. Internal choice can be given in the question. The candidate has to explicitly indicate
the option choosen. Each question carries 11 (eleven) marks.

UkH: (3.5) Continued («nfl)

5x11=55

/' ") ;
/  V

\

\ \ S.

\ 'x
\  ̂
s

\  \

s  , y /
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SPACE FOR ROUGH WORK

/  /

/ /
J /

\  /

■\ 'v'
\

GS-I-B Sample Question Answer Booklet



"SPHtxR Page No. -22

SPACE FOR ROUGH WORK

/

/ / / /
<, N / /

/  >•

\
X

V
V. /

/

/X

X

\ \ \
\  K X /

/ \

\V XT

\ \
X X

X

\ ̂
"X''

\  \

\ \

/ /

\

/ /
\  \
\ \

)  I
/  /
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